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Pedro and Eva do their homework.
Pedro takes 84 minutes to o his homework.

Theratio  Pedro’s time : Eva’s time =7 6.

‘Work out the number of minutes Eva takes to do her homework.

Answer min [2]
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The Venn diagram shows the number of elements in sets 4, B and C.
@ ndUBUC)=T4

Find x

Answer(a) x=
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(b) n(€)=100

Find .

(c) Find the value of n(4UB)'N C).

Answer®) y =

Answer(c)

[

e8]




image9.png
@

Findy whenx=2.
Give your answer correct to 4 decimal places.

Answor(@) y=

21
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(®) Reamange /8+% to make x the subject

Answer(b) x= “
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Bruce invested $420 at a rate of 4% per year compound interest

Calculate the total amount Bruce has after 2 years.
Give your answer correct to 2 decimal places.

Answer $ Bl
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An equilateral friangle has sides of length 16.1 cm, correct to the nearest millimete.

Find the lower and upper bounds of the perimeter of the triangle.

Answer Lower bound = m

Upper bound = m [2]
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Find the equation of the line passing through the points (0. ~1) and (3, 5).

Answer 1]




image14.png
» =1

r+2? =5
P23 =14
PR =30
Paeyegs = ar b 2
Work out the values of a and b.
Answer(b) a=

16
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Find the value of 2x+y for the simultaneous equations.

Answer 2x+y= 4
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The sum of the prime numbers less than 8 is equal to 17

(a) Find the sum of the prime numbers less than 21

Answer(a) 21
(b) The sum of the prime numbers less than x s 58.

Find an integer value for x

Answer(b) x = 21
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‘Wite as a single fraction in its simplest form.

2 3
x¥+3 %72

Answer B1
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Show that

Do not use a caleulator and show all the steps of your working,

Answer

[el]
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Factorise completely.
120-3¢

Answer @
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Sheila can pay her hotel bill in Euros (€) or Pounds (£)
The bill was €425 or £365 when the exchange rate was £1 = €1.14

In which currency was the bill cheaper?
Show all your working.

Answer 21
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@) Calculate /5.7 —1.03%

‘Waite down all the numbers displayed on your calculator.

Answer(a)

(b) Write your answer to part (a) correct to 3 decimal places.

Answer(b)

n

n
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Wite the following in order of size, smallest first.

s 3 37"

Answer < < < 21
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fvaries inversely as the square root of .
t=3 when

Find 1 when = 49.

Answer t= 31
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Solve the inequality.
Ix-1=1lx+2

Answer 2]








